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Shannon and Statistically Secure Encryption
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A·time pad is an encryption scheme

with these characteristics
.
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Problem with the one-time pad : reavies a
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Progress -n cryptography with smaller Imore

practical key sizes needed new ideas :

security against mentationallybounded attackers.



(annot gain any
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· Easy to compute : f(x) computed by
a Grand algorithm in poly(k) time,

· Hard to invert : for
any attacker using

rand algorithm oh that runs in poly time, if

- sample x =50
,
13 at Random
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- send f(x) to attacker * about that,
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"negligible" means [9 ne
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To invectof one must solve

integer fatization -
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20(n 3) on E classical computer.




